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INTEREST (SIMPLE AND COMPOUND)

1. Find the simple interest on Rs. 1,300 from
1
December 23, 2002 to May 18, 2003 at 75 %

per annum.
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https://doubtnut.app.link/MVcbJvrhfnb
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° Watch Video Solution

2. Find the rate of interest per year, if the
interest charged for 8 months be 0 - 06 times

of the money borrowed.

° Watch Video Solution

3. A sum of money lent out at 9 percent for 5
years produces twice as much interest as Rs.

1
4,800 in 45 years at 10 per cent. Find the sum.

| e |


https://dl.doubtnut.com/l/_XjmlpN2CgJ07
https://dl.doubtnut.com/l/_fxELvkNxP7sd
https://dl.doubtnut.com/l/_VAkfVIlKCdwv

& Watch Video Solution I

4. A certain sum amounts to Rs. 9,440 in 3
years and to Rs. 10,400 in 5 years. Find the

sum and the rate percent.

° Watch Video Solution

5. Calculate the compoud interest on Rs. 6,000

for 2 years at 10% per year.

o Watch Video Solution



https://dl.doubtnut.com/l/_VAkfVIlKCdwv
https://dl.doubtnut.com/l/_MIqzPVi228Og
https://dl.doubtnut.com/l/_rTzZeTqQMpsj

6. Calculate the amount and the compound
interest on Rs. 8,000 for 3 years at 5% per

annum.

o Watch Video Solution

7. Calculate the amount and the compound
interest on Rs. 5,000 in 2 years, if the rates of
interest for the successive years be 8% and

10% respectively.

° Watch Video Solution



https://dl.doubtnut.com/l/_0Ja8pJDAHdFA
https://dl.doubtnut.com/l/_uu8DeuVUWLLF

8. Calculate the compound interest for the
second year on Rs. 4,000 invested for 3 years

at 10% per annum.

° Watch Video Solution

9. Calculate the difference between the
compound interest and the simple interest on

Rs. 10,000 in two years and at 5% per year.

° Watch Video Solution



https://dl.doubtnut.com/l/_uu8DeuVUWLLF
https://dl.doubtnut.com/l/_fJxfkdkFz21L
https://dl.doubtnut.com/l/_hy2OTvneH3BA

10. Calculate the amount and the compound
interest on Rs. 8,000 for 1 year at 10% per

annum compounded half-yearly.

o Watch Video Solution

11. Calculate the amount and the compound
. "
Interest on Rs. 5,000 In 15 years when

interest is compound half-yearly at the rate of

20% per year.

° Watch Video Solution



https://dl.doubtnut.com/l/_Rz5jSCXDpayw
https://dl.doubtnut.com/l/_R2CoaN6TWaZj

12. Find the amount and the compound
interest on Rs. 16,000 in 3 years at 10% per

annum.

° Watch Video Solution

13. Find the amount and the compound

1
interest on Rs. 8,000 in 15 years at 10% per

year compounded half-yearly.

° Watch Video Solution



https://dl.doubtnut.com/l/_R2CoaN6TWaZj
https://dl.doubtnut.com/l/_a2RFQYzW2zUA
https://dl.doubtnut.com/l/_WSYyADPaPJMy

14. Find the amount and the compound
interest on Rs. 12,000 in 3 years, when the
rates of interest for successive years are 10%,

12% and 15% respectively.

° Watch Video Solution

1. Find the interest and the amount on :

Rs. 750 in 3 years 4 months at 10% per annum.

| e |


https://dl.doubtnut.com/l/_lqqCNAkFWj5K
https://dl.doubtnut.com/l/_0XBrDN2lRqny

& watch Video Solution I

2.Find the interest and the amount on:
Rs. 5,000 at 8% per year from 23rd December

2011 to 29th July 2012.

° Watch Video Solution

3. Find the interest and the amount on:

Rs. 2,600 in 2 years 3 months at 1% per month.

o Watch Video Solution



https://dl.doubtnut.com/l/_0XBrDN2lRqny
https://dl.doubtnut.com/l/_FG3vpcPncKcq
https://dl.doubtnut.com/l/_dOJCw9NR2H4T

4.Find the interest and the amount on :
1 :
Rs. 4,000 In 15 years at 2 paise per rupee per

month.

o Watch Video Solution

5. Rohit borrowed Rs. 24,000 at 7 - 5 percent
per year. How much money will he pay at the

end of 4 years to clear his debt ?

o Watch Video Solution



https://dl.doubtnut.com/l/_hHsVZVGkkIHi
https://dl.doubtnut.com/l/_UtGbRsHLn4l5
https://dl.doubtnut.com/l/_tTAlY1gy5R30

6. The interest on a certain sum of money is
Rs. 1,480 in 2 years and at 10 percent per year.

Find the sum of money.

o Watch Video Solution

7.0n what principal will the simple interest be

Rs. 7,008 in 6 years 3 months at 5% per year ?

° Watch Video Solution



https://dl.doubtnut.com/l/_tTAlY1gy5R30
https://dl.doubtnut.com/l/_WO4r9pltUYyT

8. Find the principal which will amount to Rs.

4,000 in 4 years at 6.25% per annum.

° Watch Video Solution

9. At what rate per cent per annum will Rs. 630

produce an interest of Rs. 126 in 4 years ?

o Watch Video Solution



https://dl.doubtnut.com/l/_S6MBIPEqLPb8
https://dl.doubtnut.com/l/_BWLJnIIKKrIs

10. At what rate percent per year will a sum

double itself in 6Z years ?

o Watch Video Solution

1. In how many years will Rs. 950 produce Rs.

399 as simple interest at 7% ?

o Watch Video Solution



https://dl.doubtnut.com/l/_dBYdz5RtydBf
https://dl.doubtnut.com/l/_F596WsFOVC6M

12. Find the time in which Rs. 1,200 will amount

toRs. 1,536 at 3 - 5 % per year.

° Watch Video Solution

13. The simple interest on a certain sum of

money is 3 of the sum in 6Z years. Find the

rate percent charged.

° Watch Video Solution



https://dl.doubtnut.com/l/_5ashYfCe9euX
https://dl.doubtnut.com/l/_dXha3qXxhFaB

14. What sum of money borrowed on 24th May
will amount to Rs. 10, 210 - 20 on 17th October
of the same year at 5 percent per annum

simple interest.

° Watch Video Solution

15. In what time will the interest on a certain

sum of money at 6% be g of itself ?

o Watch Video Solution



https://dl.doubtnut.com/l/_LpC39fBxZ1Ww
https://dl.doubtnut.com/l/_rHOCSBON0DmW
https://dl.doubtnut.com/l/_ywfQ5WIfX0P8

16. Ashok lent out Rs. 7,000 at 6% and Rs. 9,500
at 5%. Find his total income from the interest

in 3 years.

o Watch Video Solution

17. Raj borrows Rs. 8,000, out of which Rs.
4,500 at 5% and remaining at 6%. Find the

total interest paid by him in 4 years.

o Watch Video Solution



https://dl.doubtnut.com/l/_ywfQ5WIfX0P8
https://dl.doubtnut.com/l/_GOxnGJdWcY7z
https://dl.doubtnut.com/l/_zc1Hxd8WQxNl

1
18. Mohan lends Rs. 4,800 to John for 45 years
and Rs. 2,500 to Shyam for 6 years and
receives a total sum of Rs. 2,196 as interest.

Find the rate per cent per annum, it being the

same in both the cases.

o Watch Video Solution

19. John lent Rs. 2,550 to Mohan at 7 -5 per
cent per annum. If Mohan discharges the debt

after 8 months by giving an old black and


https://dl.doubtnut.com/l/_zc1Hxd8WQxNl
https://dl.doubtnut.com/l/_ZNaRZ7M0KQXb

white television and Rs. 1,422 - 50. Find the

price of the television.

° Watch Video Solution

1. The interest on a certain sum of money is

0 - 24 times of itself in 3 years. Find the rate of

interest.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZNaRZ7M0KQXb
https://dl.doubtnut.com/l/_gNCKJYl66oS7
https://dl.doubtnut.com/l/_jcbxIap09Grh

2.If Rs. 3,750 amount to Rs. 4,620 in 3 years at
simple interest. Find :
(i) the rate of interest.
1
the amount of Rs. 7,500 in 55 years at the

same rate of interest.

o Watch Video Solution

3. A sum of money, lent out at simple interest,
doubles itself in 8 years. Find :
(i) the rate of interest.

(i) In how many years will the sum become


https://dl.doubtnut.com/l/_jcbxIap09Grh
https://dl.doubtnut.com/l/_MEqf0bxGnMkJ

triple (three times) of itself at the same rate

percent ?

° Watch Video Solution

4., Rupees 4,000 amount to Rs. 5,000 in 8
years, in what time will Rs. 2,100 amount to Rs.

2,300 at the same rate ?

° Watch Video Solution



https://dl.doubtnut.com/l/_MEqf0bxGnMkJ
https://dl.doubtnut.com/l/_lnJaF2S8LZAw

5. What sum of money lent at 6-5% per
annum will produce the same interest in 4
years as Rs. 7,500 produce in 6 years at 5% per

annum ?

° Watch Video Solution

6. A certain sum amounts to Rs. 3,825 in 4
years and to Rs. 4,050 in 6 years. Find the rate

percent and the sum.

° Watch Video Solution



https://dl.doubtnut.com/l/_8GtXmwZDeDCe
https://dl.doubtnut.com/l/_0xs2ewn2Ybin

7. At what rate per cent of simple interest will
the interest on Rs. 3,750 be one-fifth of itself in

4 years? To what will it amount in 15 years ?

° Watch Video Solution

8. On what date will Rs. 1,950 lent on 5th
January, 2011 amount to Rs. 2, 125 - 50 at 5 per

cent per annum simple interest ?

° Watch Video Solution



https://dl.doubtnut.com/l/_0xs2ewn2Ybin
https://dl.doubtnut.com/l/_7ms5kZdPfcgd
https://dl.doubtnut.com/l/_9INtAdHRCqyL

9. If the interest on Rs. 2,400 be more than the
interest on Rs. 2,000 by Rs. 60 in 3 years at the

same rate per cent, find the rate.

o Watch Video Solution

10. Divide Rs. 15,600 into two parts such that

the interest on one at 5 percent for 5 years
1

may be equal to that on the other at 45 per

cent for 6 years.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZPYtGZUowNvp
https://dl.doubtnut.com/l/_CvDWrHYy05Ku

1. A sum of Rs. 8,000 is invested for 2 years at

10% per annum compound interest. Calculate :

interest for the first year.

o Watch Video Solution

2. A sum of Rs. 8,000 is invested for 2 years at
10% per annum compound interest. Calculate :

principal for the second year.


https://dl.doubtnut.com/l/_CvDWrHYy05Ku
https://dl.doubtnut.com/l/_3KGC7xFnYNgn
https://dl.doubtnut.com/l/_FR4K9BSKy9Vn

° Watch Video Solution

3. A sum of Rs. 8,000 is invested for 2 years at
10% per annum compound interest. Calculate :

interest for the second year.

° Watch Video Solution

4. A sum of Rs. 8,000 is invested for 2 years at
10% per annum compound interest. Calculate :

final amount at the end of the second year.

| e |


https://dl.doubtnut.com/l/_FR4K9BSKy9Vn
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& watch Video Solution I

5. A sum of Rs. 8,000 is invested for 2 years at
10% per annum compound interest. Calculate :

compound interest earned in 2 years.

° Watch Video Solution

6. A man borrowed Rs. 20,000 for 2 years at 8%
per year compound interest. Calculate :

the interest of the first year.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_5a2eAqx6RLkA
https://dl.doubtnut.com/l/_WlVB90WGYyoZ
https://dl.doubtnut.com/l/_L3tHXv9ODjiw

7. A man borrowed Rs. 20,000 for 2 years at 8%
per year compound interest. Calculate :

the interest of the second year.

° Watch Video Solution

8. A man borrowed Rs. 20,000 for 2 years at 8%
per year compound interest. Calculate :

the final amount at the end of the second year.

° Watch Video Solution



https://dl.doubtnut.com/l/_L3tHXv9ODjiw
https://dl.doubtnut.com/l/_vGked8QPnVCv
https://dl.doubtnut.com/l/_38IwN8ppSiRc

9. A man borrowed Rs. 20,000 for 2 years at 8%
per year compound interest. Calculate :

the compound interest of two years.

° Watch Video Solution

10. Calculate the amount and the compound
interest on Rs. 12,000 in 2 years at 10% per

year.

° Watch Video Solution



https://dl.doubtnut.com/l/_38IwN8ppSiRc
https://dl.doubtnut.com/l/_XHWFoApnmU7u
https://dl.doubtnut.com/l/_3Ku0M72ETLcD

11. Calculate the amount and the compound
interest on Rs. 10,000 in 3 years at 8% per

annum.

° Watch Video Solution

12. Calcualte the compound interest on Rs.
5,000 in 2 years, if the rates of interest for

successive years be 10% and 12% resepectively.

° Watch Video Solution



https://dl.doubtnut.com/l/_3Ku0M72ETLcD
https://dl.doubtnut.com/l/_2HDDF2L8ow5u
https://dl.doubtnut.com/l/_WcKDqu4DOtby

13. Calculate the compound interest on Rs.
15,000 in 3 years, if the rate of interest for
successive years be 6%, 8% and 10%

respectively.

o Watch Video Solution

14. Mohan borrowed Rs. 16,000 for 3 years at
5% per annum compound interest. Calculate
the amount that Mohan would have to pay at

the end of 3 years.

| & I


https://dl.doubtnut.com/l/_RVvCvNFXE9xh
https://dl.doubtnut.com/l/_k6hWk69BrshG

| ¥ Watch Video Solution |

15. Rekha borrowed Rs. 40,000 for 3 years at
10% per annum compound interest. Calculate

the interest paid by her for the second year.

o Watch Video Solution

16. Calculate the compound interest for the
second year on Rs. 15,000 invested for 5 years

at 6% per annum.

o Watch Video Solution



https://dl.doubtnut.com/l/_k6hWk69BrshG
https://dl.doubtnut.com/l/_q86fvJx12wIl
https://dl.doubtnut.com/l/_rc381TqCSOxe

17. A man invests Rs. 9,600 at 10% per annum
compound interest for 3 years. Calculate :

the interest for the first year.

o Watch Video Solution

18. A man invests Rs. 9,600 at 10% per annum
compound interest for 3 years. Calculate :

the amount at the end of the first year.

o Watch Video Solution



https://dl.doubtnut.com/l/_rc381TqCSOxe
https://dl.doubtnut.com/l/_qHJjssU66XwM
https://dl.doubtnut.com/l/_pRHXs6pnjvnB

19. A man invests Rs. 9,600 at 10% per annum
compound interest for 3 years. Calculate :

the interest for the second year.

o Watch Video Solution

20. A man invests Rs. 9,600 at 10% per annum
compound interest for 3 years. Calculate :

the interest for the third year.

o Watch Video Solution



https://dl.doubtnut.com/l/_pRHXs6pnjvnB
https://dl.doubtnut.com/l/_aEjR8JMtfbOh
https://dl.doubtnut.com/l/_p3D58dE5eBMH

21. A person invests Rs. 5,000 for two years at
a certain rate of interest compound annually.
At the end of one year, this sum amounts to
Rs. 5,600. Calculate.

(i) the rate of interest per annum.

(i) the amount at the end of the second year.

o Watch Video Solution

22. Calculate the difference between the

compound interest and the simple interest on


https://dl.doubtnut.com/l/_lM6lJkbzDdXI
https://dl.doubtnut.com/l/_LA141YLCJ1Uf

Rs. 7,500 in two years and at 8% per annum.

o Watch Video Solution

23. Calculate the difference between the
compound interest and the simple interest on

Rs. 8,000 in three years at 10% per annum.

o Watch Video Solution

24. Rohit borrowed Rs. 40,000 for 2 years at

10% per annum C.I. and Manish borrowed the


https://dl.doubtnut.com/l/_LA141YLCJ1Uf
https://dl.doubtnut.com/l/_mrnFJD0T4Www
https://dl.doubtnut.com/l/_V970oKs1Hjvg

same sum for the same time at 10.5% per
annum simple interest. Which of these two

gives less interest and by how much ?

° Watch Video Solution

25. Mr. Sharma lends Rs. 24,000 at 13% p.a.
simple interest and an equal sum at 12% p.a.
compound interest. Find the total interest

earned by Mr. Sharma in 2 years.

° Watch Video Solution



https://dl.doubtnut.com/l/_V970oKs1Hjvg
https://dl.doubtnut.com/l/_6faYHphwHxLo
https://dl.doubtnut.com/l/_bs7zIQHP0aS6

26. Peter borrows Rs. 12,000 for 2 years at 10%
p.a. compound interest. He repays Rs. 8,000 at
the end of first year. Find :

the amount at the end of first year, after

making the repayment.

o Watch Video Solution

27. Peter borrows Rs. 12,000 for 2 years at 10%
p.a. compound interest. He repays Rs. 8,000 at

the end of first year. Find :


https://dl.doubtnut.com/l/_bs7zIQHP0aS6
https://dl.doubtnut.com/l/_Li0q6dwpHDyu

the amount at the end of first year, after

making the repayment.

° Watch Video Solution

28. Peter borrows Rs. 12,000 for 2 years at 10%
p.a. compound interest. He repays Rs. 8,000 at
the end of first year. Find :

the principal for the second year.

o Watch Video Solution



https://dl.doubtnut.com/l/_Li0q6dwpHDyu
https://dl.doubtnut.com/l/_xgN9PlXf7Q82

29. Peter borrows Rs. 12,000 for 2 years at 10%
p.a. compound interest. He repays Rs. 8,000 at
the end of first year. Find :

the amount to be paid at the end of second

year, to clear the debt.

o Watch Video Solution

30. Gautam takes a loan of Rs. 16,000 for 2
years at 15% p.a. compound interest. He repays

Rs. 9,000 at the end of first year. How much


https://dl.doubtnut.com/l/_Qzo8kBo63Lpt
https://dl.doubtnut.com/l/_rJEbhioRxL69

must he pay at the end of second year to clear

the debt ?

° Watch Video Solution

31. A certain sum of money, invested for 5
years at 8% p.a. simple interest, earns an
interest of Rs. 12,000. Find :

(i) the sum of money.

(i) the compound interest earned by this
money in two years at 10% p.a. compound

interest.

| e |
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& Wwatch Video Solution I

32. Find the amount and C.I. on Rs. 12,000 in
one year at 10% per annum compounded half-

yearly.

° Watch Video Solution

33. Find the amount and the C.I. on Rs. 8,000 in
1
15 years at 20% per year compounded half-

yearly.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_h2h8h3GD0vXO
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34. Find the amount and the compound
interest on Rs. 24,000 for 2 years at 10% per

annum compounded yearly.

° Watch Video Solution

35. Find the amount and the compound
interest on Rs. 16,000 for 3 years at 5% per

annum compounded annually.

° Watch Video Solution



https://dl.doubtnut.com/l/_YycEbq1QaLvg
https://dl.doubtnut.com/l/_6OhZyaIpFdv8
https://dl.doubtnut.com/l/_iaoPkHJrgk3F

36. Find the amount and the compound
1
interest on Rs. 20,000 for 15 years at 10% per

annum compounded half-yearly.

° Watch Video Solution

37. Find the amount and the compound
interest on Rs. 32,000 for 1 year at 20% per

annum compounded half-yearly.

° Watch Video Solution



https://dl.doubtnut.com/l/_iaoPkHJrgk3F
https://dl.doubtnut.com/l/_LAZo2oVjmjo7
https://dl.doubtnut.com/l/_wxntRlgkDlMX

38. Find the amount and the compound
interest on Rs. 4,000 in 2 years, if the rate of
interest for first year is 10% and for the

second year is 15%.

o Watch Video Solution

39. Find the amount and the compound
interest on Rs. 10,000 in 3 years, if the rates of
interest for the successive years are 10%, 15%

and 20% respectively.
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° Watch Video Solution



https://dl.doubtnut.com/l/_lT8VQv4Agvmy

